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Answer all guestions

1} Which is not a service provid'e'd_ to sfudents by a Learning Mgnagemeﬁt'System (LMS),

1. Upload Assignments once they are finished.
2. Ability to relate to co-curricular act1v1t1f-‘s through v1deo dcmonstmt:lons
3. Addition of-quality 1eammg units to the system _through_ managexpent.

- 4. Ability to submit issues by joining discussion forums.

2} In which generation was the concept of stored program mtrcduced"

1. First 2. Second | B9 hd _ 4. Fourth _ “um Y
3)In.. ..multiple users connect toa central computer through multlple termmals

aiia mo‘iango data !
1. Super computer 2. Mainframe computer 3. Mini conipu‘rer 4, Micro compiit-'cr' :

4) What is the name of the memory that acts as an mtelmedxary between the central processing
unit and Random acwss memory whzuh stores frequently used data‘?

LRAM 2. ROM i i Secondary Memory 4 Cache Memory |

5) Which device can scan and computenze a document with many pagesin a short penod of
time? e : Falarar)

1. Bar Code R-eader' e -2 -Qﬁtical Charactei Reédghiffoh fooid

3. Magnetic Ink Character Reader ~ 4. Optical Mark Recognition

6) The network topology given below is, _ - _ ' :

1. Mesh topology L L Star-sopology. -

- 3.Tree topology el 4B topology
7) Consider the following attnbutes taken from ASCII table

A=65 = f-47 : L‘“‘76
What i lS the binary ASCII representat:on of NL‘? i AR e
10001001 0101011101101 2.1010001 0101011 101110

3.100011 0101011061101 = 4.1000001 6101111 101100



8) Whlch of the following is the Iargest number?

1. 100100, 5T DRSS W T 4.E8se
9) 8 Mega bites include, ' L __ |
1.25KB 2.Byte22t -~ 3, Byte 222 4, Byte 221

. 10) The Most Slgmf' cant Bit and the Least Significant Bit of the bmary number 110. 10 is,
ia RIS 31,0 4.00 i

OO

11) Kasun wants to store 3 files of 118 MB, . 5i2h"3 and 9383 MB capacity and wmcn
minimum capacity USB PEN DRIVE is best to store those ﬁles" '

I iGB ; 2 2GB 3 8GB 4. 16GB -

' I2) In the number lle, X represents the base of the number system. The appr opuate
base for X is, :

i Bmary 0ni3; | . 2 Hex adecimal only.
3. Octal only - ; 4 Bmaryf Octal fHexadccxmal!Deumdl
; 13) The printer used to pnnt recelptq in Automated Teller Machme is,
. Thermal Printer : 2. Line Printer
3. Ploiter = | - Bl 4, Lascr Printer
i4) Componcnts of Central Processmg Unit are, . _ _
1. RAM,. ROM, Cache memory~ - wwiw o 2, Hard disk, Cache memory, Controlunit
3 Mam memory, Reglster ALU . . 4 ALU, Control unit, Register

15) Which of the foliewmg is correct when storage devices are arranged in ascendmg erder :
~according ta thctr capacity? :

1.RAM, ROM, Register Memory, Hard Disk
2. Registe_r Memow,'RAM'; :ROM, Har?l Disk
3 IRAM,_ROMS; Register Memory, Hard Dis’k’
4. RAM, ROM, Hard Disk, Register Memiory
16) A device used to connect computers on a computer network ora persona! computer used
“at home to the Internet through a telephone line is, B | Sl
i Modem 2 Firewall e ~ 3 'SWiteh - o " 4. Router
I’?) When two people commumcate face to face that form of commumcat:on is cafled as,

: 1.Slmplex- 2, Ha!f—pricx Gt Full-Duplex “ o 4, FullRange



18) The output of the following logic circuit
is,

LA+B)+(B+C)  2.(A+B)+(BL)
3.(A+B)+(B+C) 4(A+B)+(C)

19) Which is not an integral part of an intégrated circuit,

1. Transistor ° - 2.Speedometer = . . 3.Resistor . 4. Capacitors

2607 What 1s the inetho ;!'=_=.:;-e i acoess files af the operating system level?
. § A RO : “\ T T T T
i.Random Access 2. Direct Access NN, L

) 12 3 4 5 &7
3. Sequential Access - 4.Random Access and Duect Access - :

2}) The logic gate represented in the follmmng table is,

1. AND AlB|Q

i : pfo |1

2. 0R o [ 1] 1

' E [ o]

3. NOT P GETE s
4, NAND '

4

22) When a student select Grade 10 basket subjects he should select Tamil language with
Information technology or Health, What is the answer that represent this scenario
reﬁqpe\,ﬂvclv‘? ; :

LAND 208 AND ~ 3.AND,OR - 4NOT

23) What is the most suntable type of network to connect all the branches of ABC Bank located
in Gampaha District? o _

I. Local Area Network (LAN) . 2, Metropohtan Arca Network (MAN)
3. Wide Area Network (WAN) 4, Intemet

24) What is the modern concept of psing a computer network to access a remote computer
and perform tasks such as processing files, stormg files, usmg sortware and nardware
resources, and software deve!opment? : :

~ 1. Cloud computing 2. World Wide Web 3. File transferring 41_;'.'Soeial Network
25) Functions of unhty programs, | | | Bakdathoeddl
_' 1. Provide a user mterfaCe to the user fieid
2 Impmve computer efﬁozency and perferm mamtenancc.
=3 Managmg the hardware of a computer

4, Estabhshmg lmks between hardware and operatmg system



- 26) False statement about Disk Partitioning is,
1. Disk Partitioning divides the hard drive iogxcally mto mu}tlple parntwns

2. Disk partitioning must be done every time a new hard drive is connected to the computer.

3. chamtlonmg any hard drwe will erase all data on it.

4. When the hard drive is partitions:
27} In a document prepared by Malmi, the word INTERNET was mistakenly writien as
" INTRANET. What s the appropnate action to v“*rect the wrong spelling? : :
I Spellmg & Grammar 2. Word Count 3. Find & Replace _ -4, Thesaurus

28) The incorrect keyboard shortcut used in word processmg software is,

1. Ctrl + P = paste | g cm+x=cmf ;

3 ChltZ—Unds. . S ~ 4.cm+C=Copy
29) What is the function key that can be used to display an e—presentauon‘?

S S aE e e Wi e
30) What is the e-prsscntatlon soﬁware that is avallable through a claud semce‘?

L. Google Presentation 2. AbiWord 3. Cal e 4. Number

31) All shdes in the presentation are shown in small size by, :

1. Normal View - : : 2, Slide SortchieW” ;
3.ReadingView 4. Slide Show

Answer the questions 32-33 using given Excel.

.. i Numberofsooks
3 Unit Price Rs.

4 Price of Books Rs

32) What is the suitable ﬁmction to insert tﬂe_ price of books to B4 cell? (It is copie’d upto F3)
L=$B3*B2 2.=B§3*B2 3.-$BS3*B2  4.<SBI*BS2.
33) When =COUNT{A2 F4) is inserted m the cell AS5, what WIII be the answer 75
.6 o S0 I e 3.5 i 4.3
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vi. a) Name a software that is used for word processing in mobile phones | mark
b) Dasun crealed an invitation card for his birthday pﬁrty. What is the facility in word

. processing software to make the card receive to all his classmates? : - 1mark

~ vii. a) What will be th-e output if the formula = 3+5°2 is inserted into a spreadshect considering
OPCraion precenence? o R ; 1 mark -
. fthe selected cell?

I mark
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viii.What is the relevant condition for inserting pictures and videos in a'qﬁélity e-

-'presentation‘? e pet ' ' " 2marks
ix. What is the idea of data cncryptmn process used to protect a databasc ? 2 marks
X. ertc 2 advantagﬁs of €-COMMETee or online shoppmg 2= © . 2 marks

2)i. Ifthe foIlo'win‘g statements regardifl.g computer generatioﬁs are true, mark v and if

false mark X. : B : : : fsiaton s b3hmarks
a) Vacuum tubc.s were uae,d in u,(.ond gunerdtlon : ' i (e )
b) nm‘mhnﬂ g system was introduced in third generation . - et o Eemat
c) Amﬁcxal Intelhgcncc voice rccognltmn were introduce in fourth gcneratlon (.......;'.).
Ui Math the Bl rie Wit o e . Amaks
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1. Parallel Port : . Kelybo.ar'd :

2. VGA. | . Q Modem.

3. Senal Port = R. Monitor

47572 Ll i R

iii. Separate the followmg dev;ces into Magnetxc Media Devxccs Optlcal medla devnces and

Solid state devwes : = 3 marks

( CD / Memory Card! Hard Disk / DVD / USB Pen dnvc / Floppy Disk)
3-) Data commumcatlon takes _,Hgiacej m_ sever_al _ways _frm_n__system 1o sy_stem.l_

1. State whether the following statements are true or false.” a2 marks



X- Tclephonc Qﬁnvcrsatioxl is an example for Ful!.-D_upch data communication. (........ )
Y - Walkie-talkie is an example for s1mplex data commumcatlon (,....._.'..) :

ii. S'f:lcct the suilable word [or éach enlence. L -1 -4 marks

cychzatlon / Potential _cychzatlon). :

R.Wi-Fi S & oo ooonn. medium. (Radio wave / Microwave)
S..oovreo is used in wireless remote controls. '(Microwavc '/Infrared)

iii. Draw a star topology using 3 (,omputers Cl1,C2,C3and a prmter Pl and a switch S1.

72 malkb
iv. Write 2 disadvantages of networking. ko o ' = 2 marks
4) i. Below is the before and after status of a word document processed using word
Drocessing softw_are. ' ' ' .
ICT Exh;batmn : 2 . :
There is an ICT exhibition in our schooi : i b L8
During 22nd — ZSﬁ? of this month. We - . \ iCTExhibitlon : . >
are pleased to onvite you to attend to - m' hib |
this event. Please give a call to” g’ : e 2:: 'fii':" in °g: \;choo
0719948853 (janaka sir} to confirm  During . of this mon L
your participation _ pleased to pnvite you to ottend to this
Thankyou : '  event. PUNE GV f (Ol to 0729042853
- Ao d kg sir) to confirm your participation
. ] . % . Thankyou 3B Y
_ Before formatting e Gt Aﬁer.formaﬂ_ing

Below are some formatting tools in a word processing software..
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34) If the row number and the column letter of the adjacent cells change accordingly when a
formula is copied, such cell addresses are called,

1. Relative cell reference

1. Home

3. Ctrl + Up arrow key

Below is a database containing dCtdllb of regmnal becrctdnes of several districts. Answer the given

questions using the database.

2. Row absolute cell reference

A D ,_...,1 enliimn ahanhate call roference

in the a e cell iS,

2. Ctrd + arrdw keys
4. Crtl +Home

Secretary Table Division Table
NIC_No Name 'DSD_Code Division_Code Division_Name
789878059V | K.D. Gunawardhana | 01/03 o1 Rathnapura
708590340V | M.P Jagath 01/02 02 Kegalle
807853350V | R.P. Gunawardhana | 01/03
Secretary-Division Table
DSD_Code |  Division Division_Code
03/03 | Rathnapura | 01
03/02 Kuruwita 01
02/03 Dihiowita | 02 cnod Colloge J

. 36) Number of ficlds and records in Secretary Table are,

2.35
37) The primary key of above database is,
1. DSD Code in Secretary Table

1.34

* 3. Division_Code in Secretary- Division Table

3.33 4.4,3

2. Division_Cede in Division Table

4. Name in Secretary Table

38) The true statement about foreign key of thé above database is,

1. NIC_No in Secretary Table.

3. Division in Division Table

2. Division_Name in Division Table

4.DSD_Code in Secretary Table

39) Regional Secretary M.P. Jagath is scheduled to retire from next month. Which tablefs

sheuld be updated accordingly?
L. Secretary Table :
3. Secretary- Division Table

Z0 Divisioﬁ Table
‘4, All tables

. 40) What are the suitable data types for NIC No, Name in above database?

1. Text, Number 2. Number, Text -

3. Text, Text

4. Number, Boolean
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6) i. The operating system identifies the file type based on the extension of a file,
a) What is the file type corresponding to the following file extension? 1 mark

o T

.a’-:c«;ib
- bl Write the sreps to change fhe name of a folder S . _. : .. 1 mérk
ii. Sahan bought a new hard disk. His friend said to do a disk partltlonmg before usmg it.
a) Whatis Disk Partitioning? -~ = . P (s 2 mz_uks
b) What is the next step after Disk Paﬁitioning? e 2 ks
iii. Mention 1 advantage of graphical user interface over command line interface 1 mark

iv. Name 2 utility software in operating system. : i 2 marks

7. Write the answers to the questions from the database tables given beiow.'

e - 5portTable B
L 1D ISport ID L_NAME - |Sport_ID {Name
001 [S001 |Vvihaga, ~ -|soor " FootBall
002 15002 Chamath = |  1S002 - |Cricket
b 1003 |S003 . |Pradeep . | S003 ©  |Netball .
o .
Sty 1D |Name Age group Sport_iD .
sS1 - |Dasun |Under19  1S001
552 Vihaga |Under 17 5002
$53 Chamath |Under 19 $003
554 Pradeep. |Under17  |S001
i. Complete the table below from the above database. ' . 2 marks
Table Name Primary Key
Sport Table

Leaders Table




ii. Name 2 foreign keys of this database with table names. 0 2 marks
i Write the tables to be updated for the following situhtions; ] 2 marks

a. It is intended to introduce Rugger game to school students and to appoint Chamath as the
leader. e gl Sl o Eal R :

lents, it was decided to remove the game of Foot Ball

iv. Write down how to update the above scenario ‘a’ as below 2 marks

Table Name — (Field 1, Field 2,)

v. Which tables are needed to create a query about thé sport in which the student with the

student number SS1 is engaged? skl S 2 marks

11



